Page 1
Order Date 10/01/20 10:12 am
Completed: 10/01/20 01:28 pm

BAR #: ARD148360

3746 Placer Corporate Dr.

Invoice No.

Rocklin, CA 95765

000030715

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

08 FERRARI F430 SPIDER

10011 Mi.Fleet # F1

Lic: 6BVF697/CA V8Cyl 4.3 Vin: ZFFEW59AX80158324 11/07

Eq: AC PS FI

Job01 ANNUAL SERVICE (1) F430

Labor: \$270.00

LIFT VEHICLE AND PERFORM COMPLETE VEHICLE INSPECTION. CHANGE ENGINE OIL AND FILTER. TEST BRAKE FLUID; BRAKE FLUID TESTED "GOOD". CHECK FLUID LEVELS AND TOP OFF IF NECESSARY. TEST DRIVE, ALL OK. PER CUSTOMER REQUEST, READ OUT CLUTCH WEAR. CLUTCH IS 55.36% WORN.

| 234742 PZL 5W40 EURO | OIL FILTER-N FULL SYNTHETIC OIL-N | | | 74.95 =\$ | 74.95 | |
|-----------------------------------|--------------------------------------|-----------------|-----------------------|-----------|---------|--------------------|
| CU29 10263460 | COPPER SEALING WASHER-N | 10.0 @ 1.0 @ | 10.00 =\$ 1.00 =\$ | 100.00 | | |
| 10263460 WASHER, 22X29X1.5 COPP-N | WASHER, 22X29X1.5 COPP-N | 1.0 | @ | 2.80 =\$ | | 178.75 \$448.75 |
| | | | | ood sur | ococar: | 9448.15 |

Recommendations: LAST EVALUATED: 10/01/2020

SCHEDULED MAINTENANCE DUE: 10/01/2021 OR 15,000 MILES (ANNUAL SERVICE)

TIRE PRESSURE INFLATED TO (PSI): FRONT: 32 REAR: 32

BRAKE PADS APPROXIMATE REMAINING: FRONT = 80% REAR = 80%.

- TIRES ARE 7+ YEARS OLD PER DATE STAMP. THERE IS SOME AGE RELATED WEAR (CRACKING IN TREAD BLOCK). TIRES HAVE >60% TREAD DEPTH REMAINING.

| Payments to Salerno Motorsports, Inc. | Cost Summa: | ry |
|---------------------------------------|-------------|----------|
| Status: Completed Work Order | Labor | 270.00 |
| | Parts | 178.75 |
| Payments: | Subtotal | 448.75 |
| | Tax | 12.9 |
| | Total | \$461.73 |
| | Payments | 0.00 |
| | Bal Due | 461.71 |

Thank you for choosing Salerno Motorsports, Inc.

| (Signature) | | | |
|-------------|--|--|--|
|-------------|--|--|--|

BAR #: ARD148360

Invoice No.

Order Date 07/18/19 12:26 pm Closed/Paid: 07/18/19 02:01 pm

Page 1

3746 Placer Corporate Dr.

Rocklin, CA 95765

000029330

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

08 FERRARI F430 SPIDER

3285 Mi.Fleet # F1

Lic: 6BVF697/CA V8Cyl 4.3 7in: ZFFEW59AX80158324 11/07

Eq: AC PS FI

Job01 ANNUAL SERVICE (1) F430

Labor: \$240.00

LIFT VEHICLE AND PERFORM COMPLETE VEHICLE INSPECTION. CHANGE ENGINE OIL AND FILTER. BRAKE FLUID; BRAKE FLUID TESTED "GOOD". CHECK FLUID LEVELS AND TOP OFF IF NECESSARY. TEST DRIVE, ALL OK. PER CUSTOMER REQUEST, READ OUT CLUTCH WEAR. CLUTCH IS 37.94% WORN.

| 234742 | A== ================================== | | | | |
|---------------|--|--------|------------|--------|----------|
| 234142 | OIL FILTER-N | 1.0 a | 54.95 = \$ | 54.95 | |
| PZL 5W40 EURO | FULL SYNTHETIC OIL-N | 10.0 @ | 10.00 =\$ | 100.00 | |
| CU29 | COPPER SEALING WASHER-N | 1.0 @ | 1.00 =\$ | 1.00 | |
| 10263460 | WASHER, 22X29X1.5 COPP-N | 1.0 @ | 2.80 =\$ | 2.80 | 158.75 |
| | | | Job Suk | total: | \$398.75 |

LAST EVALUATED: 07/18/2019 Recommendations:

SCHEDULED MAINTENANCE DUE: 07/18/2020 OR 13,300 MILES (ANNUAL SERVICE)

TIRE PRESSURE INFLATED TO (PSI): FRONT: 32 REAR: 32

BRAKE PADS APPROXIMATE REMAINING: FRONT = 85% REAR = 85%.

| Payments to Salerno Motorsports, Inc. | Cost Summan | ry |
|---------------------------------------|-------------|----------|
| Status: Closed Work Order | Labor | 240.00 |
| | Parts | 158.75 |
| Payments: \$410.26 | Subtotal | 398.75 |
| 1 07/18/19 410.26 MCard 1208 | Tax | 11.51 |
| | Total | \$410.26 |
| | Payments | 410.26 |
| | Bal Due | 0.00 |

Thank you for choosing Salerno Motorsports, Inc.

Order Date 02/15/18 05:57 pm Closed/Paid: 02/19/18 10:38 am

BAR #: ARD148360

3746 Placer Corporate Dr.

Invoice No. 000027719

Rocklin, CA 95765 0000 Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

08 FERRARI F430 SPIDER

Mileage in:5007 out:

Lic: 6BVF697/CA V8Cyl 4.3 Vin: ZFFEW59AX80158324 11/07

Eq: AC PS FI Fleet # F1

Job01 ANNUAL SERVICE (2) F430

Labor: \$420.00

LIFT VEHICLE AND PERFORM COMPLETE VEHICLE INSPECTION. CHANGE ENGINE OIL AND FILTER. FLUSI AND BLEED BRAKE SYSTEM. CHECK FLUID LEVELS AND TOP OFF IF NECESSARY. TEST DRIVE, ALL OK.

| 234742 | OIL FILTER-N | 1.0 @ | 49.85 =\$ | 49.85 | |
|---------------|--------------------------|--------|-----------|--------|--------|
| PZL 5W40 EURO | FULL SYNTHETIC OIL-N | 10.0 @ | 10.00 =\$ | 100.00 | |
| 10263460 | WASHER, 22X29X1.5 COPP-N | 1.0 @ | 2.80 =\$ | 2.80 | |
| 706202 | ATE SUPER GOLD TYP 200-N | 1.5 @ | 24.00 =\$ | 36.00 | |
| MPS | MULTI PURPOSE SOLVANT-N | 0.5 @ | 4.25 =\$ | 2.13 | |
| CU29 | COPPER SEALING WASHER-N | 1.0 @ | 1.00 =\$ | 1.00 | |
| 3 391 014 391 | WIPER BLADE INSERT-N | 2.0 @ | 17.55 =\$ | 35.10 | 226.88 |
| | | | | | |

Job Subtotal: \$646.88

Recommendations: LAST EVALUATED: 02/15/2018

SCHEDULED MAINTENANCE DUE: 02/15/2019 OR 10,000 MILES (ANNUAL SERVICE)

TIRE PRESSURE INFLATED TO (PSI): FRONT: 32 REAR: 32

BRAKE PADS APPROXIMATE REMAINING: FRONT = 90% REAR = 90%.

| Payments | to | Salerno | Motorsports, | Inc. | (1) | Cost Summary | ř. |
|----------|----|---------|--------------|------|-----|--------------|----------|
| | | | | | | | |
| | | | | | | | |
| | | | | | | Labor | 420.00 |
| | | | | | | Parts | 226.87 |
| | | | | | | Subtotal | 646.87 |
| | | | | | | Tax | 16.45 |
| | | | | | | Total | \$663.32 |
| | | | | | | Payments | 663.32 |

I hereby authorize the above repair work to be done with the necessary material and hereby grant you and/or your employees permission to operate the car, truck or vehicle herein described on street, highways or elsewhere for the purpose of testing and/or inspection. An express mechanics lien is hereby acknowledged on above car, truck or vehicle to secure the amount of repairs thereto. You will not be held responsible for loss or damage to vehicle or articles left in vehicle in case of fire, accident or any other cause beyond your control.

| (Signature) | | | |
|---------------|--|--|--|
| (Signature) | | | |

Order Date 01/31/17 08:48 am Closed/Paid: 02/01/17 05:10 pm

BAR #: ARD148360

3746 Placer Corporate Dr.

Invoice No.

Rocklin, CA 95765

000026572

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

08 FERRARI F430 SPIDER

Mileage in:4753 out:

Lic: 6BVF697/CA V8Cyl 4.3 Vin: ZFFEW59AX80158324 11/07

Eq: AC PS FI Fleet # F1

Job01 ANNUAL SERVICE (3) F430

Labor: \$560.00

LIFT VEHICLE, REMOVE UNDER BODY PANELS AND PERFORM COMPLETE VEHICLE INSPECTION. CHANGE ENGINE OIL AND FILTER. FLUSH AND BLEED BRAKE SYSTEM. CHANGE TRANSAXLE OIL. REASSEMBLE AND TEST DRIVE. ALL OK.

| 234742 | OIL FILTER-N | 1.0 @ | 49.08 =\$ | 49.08 | |
|---------------|--------------------------|-------|-----------|-------|--------|
| PZL 5W40 EURO | FULL SYNTHETIC OIL-N | 9.0 @ | 10.00 =\$ | 90.00 | |
| 10263460 | WASHER, 22X29X1.5 COPP-N | 3.0 @ | 2.80 =\$ | 8.40 | |
| CU29 | COPPER SEALING WASHER-N | 1.0 @ | 1.00 =\$ | 1.00 | |
| 706202 | ATE SUPER GOLD TYP 200-N | 1.5 @ | 24.00 =\$ | 36.00 | |
| SH27608 | 75W-90 SPIRAX-N | 3.0 @ | 30.75 =\$ | 92.25 | |
| MPS | MULTI PURPOSE SOLVANT-N | 2.0 @ | 4.25 =\$ | 8.50 | 285.23 |
| | | | | | |

Job Subtotal: \$845.23

Job02 F1 PUMP RELAY

Labor: \$140.00

CUSTOMER STATES: NOISE FROM REAR OF CAR, TRANSMISSION WARNING LIGHT IS ON. SCAN SYSTEM FOR STORED CODES AND RECORD: PUMP PILOTING RELAY STUCK (MEM). REPLACE F1 CONTROL RELAY. CLEAR FAULT CODES. TEST DRIVE, ALL OK.

233100

RELAY, F1 PUMP-N

1.0 @ 49.85 =\$ 49.85

49.85

Job Subtotal: \$189.85

Job03 BATTERY (MT5-48/H6)

Labor: \$70.00

PER CUSTOMER REQUEST, REPLACE BATTERY. RADIO CODE: 44353

MT5-48/H6

BATTERY (AGM)-N

1.0 @ 239.45 =\$ 239.45 239.45

Job Subtotal: \$309.45

Recommendations: LAST EVALUATED: 01/31/2017

---->--->--->--->--->--->

| (Signature) | |
|-------------|--|
| (| |

Page 2

Order Date 02/15/18 05:57 pm Closed/Paid: 02/19/18 10:38 am

BAR #: ARD148360

3746 Placer Corporate Dr. Rocklin, CA 95765

Invoice No. 000027719

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

Payments to Salerno Motorsports, Inc.

Cost Summary

Bal Due

0.00

Status: Closed Work Order

Payments: \$663.32

1 02/19/18 663.32 AMEX

#3023

Thank you for choosing Salerno Motorsports, Inc.

| (Signature) | |
|-------------|--|

Order Date 01/18/16 03:25 pm Closed/Paid: 01/20/16 02:49 pm

BAR #: ARD148360

3746 Placer Corporate Dr. Rocklin, CA 95765

Invoice No. 000025510

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

08 FERRARI F430 SPIDER

Mileage in:4489 out:

Lic: 6BVF697/CA V8Cyl 4.3 Vin: ZFFEW59AX80158324 11/07

Eq: AC PS FI Fleet # F1

Job01 ANNUAL SERVICE (2) F430

Labor: \$390.00

LIFT VEHICLE AND PERFORM COMPLETE VEHICLE INSPECTION. TEST BATTERY, BATTERY TESTED "GOOD". CHANGE ENGINE OIL AND FILTER. FLUSH AND BLEED BRAKE SYSTEM. CHECK FLUID LEVELS AND TOP OFF IF NECESSARY. TEST DRIVE, ALL OK.

| MOBIL 1 M 5-40 | SYNTHETIC OIL-N | 10.0 @ | 11.00 =\$ | 110.00 | |
|----------------|--------------------------|--------|-----------|--------|--------|
| 234742 | OIL FILTER-N | 1.0 @ | 49.08 =\$ | 49.08 | |
| 10263460 | WASHER, 22X29X1.5 COPP-N | 1.0 @ | 2.80 =\$ | 2.80 | |
| CASTROL GT LMA | BRAKE FLUID-N | 60.0 @ | 0.50 =\$ | 30.00 | |
| MPS | MULTI PURPOSE SOLVANT-N | 0.5 @ | 4.25 =\$ | 2.13 | |
| CU29 | COPPER SEALING WASHER-N | 1.0 @ | 1.00 =\$ | 1.00 | 195.01 |
| | | | | | |

Job Subtotal: \$585.01

Job02 KEY FOB BATTERY

Labor: \$0.00

PER CUSTOMER REQUEST, REPLACE KEY BATTERY.

CR1220

REMOTE BATTERY-N

2.0 @ 3.95 =\$

7.90

7.90

Job Subtotal: \$7.90

Job03 CENTER STEERING WHEEL

Labor: \$130.00

CUSTOMER STATES: STEERING WHEEL IS OFF CENTER. MEASURE AND ADJUST FRONT SUSPENSION SPECS AS NECESSARY TO CENTER STEERING WHEEL.

Job Subtotal: \$130.00

Recommendations: LAST EVALUATED: 01/18/2016

SCHEDULED MAINTENANCE DUE: 01/18/2017 OR 9,500 MILES (ANNUAL SERVICE)

TIRE PRESSURE INFLATED TO (PSI): FRONT: 32 REAR: 32

---->--->--->--->--->

| (Signature) | | |
|-------------|--|--|
| (Dignacale) | | |

Page 2

Order Date 01/31/17 08:48 am Closed/Paid: 02/01/17 05:10 pm

BAR #: ARD148360

3746 Placer Corporate Dr.

Invoice No. 000026572

Rocklin, CA 95765

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

Recommendations

SCHEDULED MAINTENANCE DUE: 01/31/2018 OR 9,800 MILES (ANNUAL SERVICE) TIRE PRESSURE INFLATED TO (PSI): FRONT: 32 REAR: 32 BRAKE PADS APPROXIMATE REMAINING: FRONT = 90% REAR = 90%.

| Payments to Salerno Motorsports, Inc. | Cost Summary | |
|---------------------------------------|--|----------|
| Status: Closed Work Order | Labor 770. | |
| Payments: \$1,386.18 | Parts 574.1 Subtotal 1344.1 Tax 41.0 | 53 |
| 1 02/01/17 1386.18 AMEX #3023 | Total \$1386. Payments 1386. Bal Due 0.0 | 18 18 |

Thank you for choosing Salerno Motorsports, Inc.

I hereby authorize the above repair work to be done with the necessary material and hereby grant you and/or your employees permission to operate the car, truck or vehicle herein described on street, highways or elsewhere for the purpose of testing and/or inspection. An express mechanics lien is hereby acknowledged on above car, truck or vehicle to secure the amount of repairs thereto. You will not be held responsible for loss or damage to vehicle or articles left in vehicle in case of fire, accident or any other cause beyond your control.

Order Date 02/19/15 08:06 am Closed/Paid: 02/20/15 12:41 pm

BAR #: ARD148360

3746 Placer Corporate Dr.

Invoice No.

Rocklin, CA 95765 000024563

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

08 FERRARI F430 SPIDER

Mileage in:4331 out:

Lic: 6BVF697/CA V8Cyl 4.3

Vin: ZFFEW59AX80158324 11/07

Eq: AC PS FI Fleet # F1

Job01 ANNUAL SERVICE (5) F430

Labor: \$650.00

Job Subtotal: \$994.51

READ OUT FAULT MEMORY, RECORD CODES: NO CODES FOUND. LIFT VEHICLE, REMOVE UNDER BODY PANELS AND PERFORM COMPLETE VEHICLE INSPECTION. CHANGE ENGINE OIL AND FILTER. FLUSH AND BLEED BRAKE SYSTEM. FLUSH COOLING SYSTEM; FILL AND BLEED COOLING SYSTEM. CHANGE POWER STEERING FLUID. CHANGE TRANSAXLE OIL. REASSEMBLE AND TEST DRIVE. ALL OK. > PER CUSTOMER REQUEST, TURN DASH BRIGHTNESS UP TO 25 AND LUBRICATE SOFT TOP PIVOTS AS NECESSARY. ALL OK.

| 234742 | OIL FILTER-N | 1.0 | <u>e</u> | 52.08 =\$ | 52.08 | |
|-----------------|--------------------------|------|----------|-----------|--------|--------|
| MOBIL 1 M 5-40 | SYNTHETIC OIL-N | 10.0 | @ | 10.00 =\$ | 100.00 | |
| 10263460 | WASHER, 22X29X1.5 COPP-N | 2.0 | @ | 2.80 =\$ | 5.60 | |
| CASTROL GT LMA | BRAKE FLUID-N | 60.0 | @ | 0.50 =\$ | 30.00 | |
| SH50008 | TRANSAXLE 75W90-N | 3.5 | @ | 30.75 =\$ | 107.63 | |
| DONAX TX | SHELL ATF-N | 1.0 | @ | 14.75 =\$ | 14.75 | |
| 82 14 1 467 704 | ANTI-FREEZE BLUE-N | 1.0 | @ | 25.95 =\$ | 25.95 | |
| MPS | MULTI PURPOSE SOLVANT-N | 2.0 | @ | 4.25 =\$ | 8.50 | 344.51 |
| | | | | | | |

Recommendations: LAST EVALUATED: 02/19/2015

SCHEDULED MAINTENANCE DUE: 02/19/2016 OR 9,300 MILES (ANNUAL SERVICE)

TIRE PRESSURE INFLATED TO (PSI): FRONT: 32 REAR: 32

BRAKE PADS APPROXIMATE REMAINING: FRONT = 90% REAR = 90%.

Payments to Salerno Motorsports, Inc.

Cost Summary

Labor

650.00

| I hereby authorize the above repair work to be done with the necessary material and hereby grant you and/or your employees |
|--|
| permission to operate the car, truck or vehicle herein described on street, highways or elsewhere for the purpose of testing |
| and/or inspection. An express mechanics lien is hereby acknowledged on above car, truck or vehicle to secure the amount of |
| repairs thereto. You will not be held responsible for loss or damage to vehicle or articles left in vehicle in case of fire, |
| accident or any other cause beyond your control. |

| (Signature) | | |
|-------------|--|--|
| Signature | | |

Page 2

Order Date 01/18/16 03:25 pm Closed/Paid: 01/20/16 02:49 pm

BAR #: ARD148360

3746 Placer Corporate Dr. Rocklin, CA 95765

Invoice No. 000025510

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

Recommendations

BRAKE PADS APPROXIMATE REMAINING: FRONT = 90% REAR = 90%.

| Payments to Salerno Motorsports, Inc. | Cost Summary |
|---------------------------------------|---|
| | |
| Status: Closed Work Order | Labor 520.00 Parts 202.91 |
| Payments: \$738.13 | Subtotal 722.91 |
| 1 01/20/16 738.13 AMEX #2025 | Tax 15.22 Total \$738.13 Payments 738.13 Bal Due 0.00 |

Thank you for choosing Salerno Motorsports, Inc.

| (Signature) | | | |
|-------------|--|--|--|

I hereby authorize the above repair work to be done with the necessary material and hereby grant you and/or your employees permission to operate the car, truck or vehicle herein described on street, highways or elsewhere for the purpose of testing and/or inspection. An express mechanics lien is hereby acknowledged on above car, truck or vehicle to secure the amount of repairs thereto. You will not be held responsible for loss or damage to vehicle or articles left in vehicle in case of fire, accident or any other cause beyond your control.

Order Date 03/14/14 01:33 pm Closed/Paid: 03/14/14 03:50 pm

BAR #: ARD148360

3746 Placer Corporate Dr.

Invoice No.

000023593 Rocklin, CA 95765

Phone: 916-652-0496 FAX: 916-652-3363

WWW. SALERNOMOTORSPORTS. COM

08 FERRARI F430 SPIDER

Mileage in:4110 out:

Lic: 6BVF697/CA V8Cyl 4.3 Vin: ZFFEW59AX80158324 11/07

Eq: AC PS FI Fleet # F1

| Job01 ANNUAL | SERVICE (1) F430 | | | | Labor: | \$195.00 |
|---|---|----------------------------|----------|--------------|------------------------|----------|
| LIFT VEHICLE AND BRAKE FLUID; BRAI DRIVE, ALL OK. | PERFORM COMPLETE VEHICLE INSPEKE FLUID TESTED "GOOD". CHECK F | CTION. CHAN LUID LEVELS | IGE A | ENGINE OIL A | AND FILTER NECESSAR | |
| MOBIL 1 ESP 5-40 | SYNTHETIC OIL-N | 10.0 | e a | 11.00 =\$ | 110.00 | |
| 234742 | OIL FILTER-N | 1.0 | @ | 58.08 =\$ | 58.08 | |
| 10263460 | WASHER, 22X29X1.5 COPP-N | 1.0 | @ | 2.80 =\$ | 2.80 | |
| 32X38X2 | COPPER SEALING WASHER-N | 1.0 | @ | 2.85 =\$ | 2.85 | 173.73 |
| | | | | Job Su | btotal: | \$368.73 |
| Job02 MOUNT | & BALANCE (4) TIRES | | | | Labor: | \$130.00 |
| MOUNT & BALANCE | (4) TIRES. | | | | 4 | |
| 083014415 | STEEL WT., 5 GRAMS-N | 50.0 | <u>a</u> | 0.30 =\$ | 15.00 | |
| 8791321 | VALVE STEM CORE-N | 4.0 | 9 | 2.00 =\$ | 8.00 | |
| 225/35ZR19 PIR | P ZERO ROSSO-S | 2.0 | @ | 277.00 =\$ | 554.00 | |
| 285/35ZR19 PIREL | P ZERO ROSSO-S | 2.0 | @ | 438.00 =\$ | 876.00 | 1453.00 |

Job03 TIRE PRESSURE SENSORS

Labor: \$0.00

DURING TIRE REPLACEMENT, REPLACE TIRE PRESSURE SENSORS.

239298

TIRE PRESSURE CONTROL-S

251.10 =\$ 1004.40 1004.40

Job Subtotal: \$1,004.40

Job Subtotal: \$1,583.00

Recommendations: LAST EVALUATED: 03/13/2014

SCHEDULED MAINTENANCE DUE: 03/13/2015 OR 9,100 MILES (ANNUAL SERVICE)

----->--->--->--->--->--->----> I hereby authorize the above repair work to be done with the necessary material and hereby grant you and/or your employees permission to operate the car, truck or vehicle herein described on street, highways or elsewhere for the purpose of testing

and/or inspection. An express mechanics lien is hereby acknowledged on above car, truck or vehicle to secure the amount of repairs thereto. You will not be held responsible for loss or damage to vehicle or articles left in vehicle in case of fire, accident or any other cause beyond your control.

| (Signature) | |
|-------------|--|

Page 2

Order Date 02/19/15 08:06 am Closed/Paid: 02/20/15 12:41 pm

BAR #: ARD148360

3746 Placer Corporate Dr. Rocklin, CA 95765

Invoice No. 000024563

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

Payments to Salerno Motorsports, Inc.

Cost Summary

| Parts | 344.50 |
|----------|-----------|
| Subtotal | 994.50 |
| Tax | 25.84 |
| Total | \$1020.34 |
| Payments | 1020.34 |
| Bal Due | 0.00 |

Status: Closed Work Order

Payments: \$1,020.34

1 02/20/15 1020.34 AMEX

#2025

Thank you for choosing Salerno Motorsports, Inc.

| (Signature) | |
|-------------|--|
| | |

I hereby authorize the above repair work to be done with the necessary material and hereby grant you and/or your employees permission to operate the car, truck or vehicle herein described on street, highways or elsewhere for the purpose of testing and/or inspection. An express mechanics lien is hereby acknowledged on above car, truck or vehicle to secure the amount of repairs thereto. You will not be held responsible for loss or damage to vehicle or articles left in vehicle in case of fire, accident or any other cause beyond your control.

Order Date 02/14/13 05:11 pm Closed/Paid: 02/15/13 11:38 am

BAR #: ARD148360

3746 Placer Corporate Dr. Rocklin, CA 95765

Invoice No.

000022339

Phone: 916-652-0496 FAX: 916-652-3363

WWW.SALERNOMOTORSPORTS.COM

08 FERRARI F430 SPIDER

Mileage in:3830 out:

Lic: 6BVF697/CA V8Cyl 4.3 Vin: ZFFEW59AX80158324 11/07

Eq: AC PS FI Fleet # F1

Job01 ANNUAL SERVICE (2)F430

Labor: \$390.00

LIFT VEHICLE AND PERFORM COMPLETE VEHICLE INSPECTION. CHANGE ENGINE OIL AND FILTER. FLUSH AND BLEED BRAKE SYSTEM. CHECK FLUID LEVELS AND TOP OFF IF NECESSARY. TEST DRIVE, ALL OK.

| The second secon | | CONTRACTOR | | | |
|--|--------------------------|---|-----------|-------|--------|
| PENNZOIL 5W-40 | ULTRA EURO OIL-N | 10.0 @ | 9.95 =\$ | 99.50 | |
| 234742 | OIL FILTER-N | 1.0 @ | 34.95 =\$ | 34.95 | |
| 10263460 | WASHER, 22X29X1.5 COPP-N | 1.0 @ | 2.80 =\$ | 2.80 | |
| 32X38X2 | COPPER SEALING WASHER-N | 1.0 @ | 2.85 =\$ | 2.85 | |
| CASTROL GT LMA | BRAKE FLUID-N | 60.0 @ | 0.50 =\$ | 30.00 | |
| MPS | MULTI PURPOSE SOLVANT-N | 0.5 @ | 4.25 =\$ | 2.13 | 172.23 |
| | | | | | |

Job Subtotal: \$562.23

Recommendations: LAST EVALUATED: 02/14/2013

SCHEDULED MAINTENANCE DUE: 02/14/2014 OR 8,800 MILES (ANNUAL SERVICE)

TIRE PRESSURE INFLATED TO (PSI): FRONT: 34 REAR: 38

BRAKE PADS APPROXIMATE REMAINING: FRONT = 90% REAR = 90%.

| Payments to Salerno Motorsports, I | nc. Cost Sum | nary |
|---|---|---|
| | 4 | 286.2 |
| Status: Closed Work Order Payments: \$575.15 1 02/15/13 575.15 AMEX #1027 | Labor Parts Subtotal Tax Total Payments Bal Due | 390.00 172.23 562.23 12.92 \$575.15 575.15 |

Thank you for choosing Salerno Motorsports, Inc.

| (Signature) | |
|--------------|--|
| ¿ Dignacare, | |

Page 2

Order Date 03/14/14 01:33 pm Closed/Paid: 03/14/14 03:50 pm

BAR #: ARD148360

3746 Placer Corporate Dr.

Invoice No. 000023593

Rocklin, CA 95765 0000 Phone: 916-652-0496 FAX: 916-652-3363

916-652-3363

WWW.SALERNOMOTORSPORTS.COM

Recommendations

TIRE PRESSURE INFLATED TO (PSI): FRONT: 34 REAR: 38
BRAKE PADS APPROXIMATE REMAINING: FRONT = 90% REAR = 90%.

| Payments to Salerno Motorspor | rts, Inc. | Cost Summar | У |
|--|-----------|---------------|-------------------|
| | | | ń. |
| Status: Closed Work Order | | Labor | 325.00 |
| | | Parts | 2631.13 |
| Payments: \$3,226.96 | | CA Tire Tax (| |
| See also American Ame | | Tire Disposal | L @ e 8.00 |
| 1 03/14/14 3226.96 AMEX #20 | 25 | Shipping | 58.50 |
| | | Subtotal | 3029.63 |
| | | Tax | 197.33 |
| | | Total | \$3226.96 |
| | | Payments | 3226.96 |
| | | Bal Due | 0.00 |

Thank you for choosing Salerno Motorsports, Inc.

| (Signature) | | | |
|-------------|--|--|--|
| | | | |